THE STRONGEST LINK.

Assembly Instruction

product:
author:
date:
doc ID:

passing:

&

PMA-EC-962-PMB-TNXCD/To8-VA4.x
S. Weber
Apr. 30, 2025

250430-PT95MA-SW-PMA-EC-962-PMB-TNXCD,
To8-VA4.x_assembly instruction_rev.oo.idw

Digital
unterschri

20250515
15:50:17 +0200°



INTRO

® What you need:
w Wrench 19mm
S
17 - 19mm
wrench
100mm to
Pole B 150mm
5
ATTENTION:
Please be careful when
working at heights !
Table of confent
obj. | qty. part material
1 2 |PMB-TNXCD stainless steel
2 8 |Washer DIN 125 - A 13 stainless steel
3 8 |Nut ISO 4032 - M12 stainless steel
b L |Threaded rod M12 x 15 x 260 stainless steel
5 L |Threaded bolt ISO 4017 - M10 x 25 stainless steel
6 8 | Washer DIN 125 - A 10,5 stainless steel
7 4 |Nut ISO 4032 - M10 stainless steel

Doc. ID: 250430-PT95MA-SW-PMA-EC-962-PMB-TNXCD, T08-VAL.x_assembly

instruction_rev.00.idw; page 2




External equipment
Please mount first!

tightening: 15Nm

@ tightening: 25Nm

Doc. ID: 250430-PT95MA-SW-PMA-EC-962-PMB-TNXCD, T08-VAL.x_assembly
instruction_rev.00.idw; page 3




tightening: 25Nm

Doc. ID: 250430-PT95MA-SW-PMA-EC-962-PMB-TNXCD, T08-VAL.x_assembly
instruction_rev.00.idw; page &




180,00 - 237,00

2 100mm
- 150mm

236,00
170,00

582,14

Doc. 1D: 250430-PT95MA-SW-PMA-EC-962-PMB-TNXCD, T08-VAL.x_assembly
instruction_rev.00.idw; page 5




Note:
For more information see
other assambly insfructions!

Doc. ID: 250430-PT95MA-SW-PMA-EC-962-PMB-TNXCD, T08-VA&L.x_assembly
instruction_rev.00.idw; page 6




Doc. ID: 250430-PT95MA-SW-PMA-EC-962-PMB-TNXCD, T08-VA&L.x_assembly
instruction_rev.00.idw; page 7







		2025-05-15T15:50:17+0200
	Roger Thoms




